o O OO 0O 0O 000 00 0O 0O O

@110

o O O 0O O 0O 0O O 0O 00 0O 0O O

1300

L Ly 7= 0

549

FFL

180

96,5
=6 6 F
(370)
fef=—0 © of
100
1135
93)
= (735)
95 —_—
1
170) 4
75 150 | 165
T
400
407

Blower Art# 1.2030.3.0C

In the interest of continuous improvement and upgrade of our products
Hortig reserves the right to change the technical specifications at any time,
without prior notice.

@(")RTIG rohrpost

Air Tube Transport Systems »>

2030 Blower_Console_Strut_Air Diverter

1/6

20.01.2023




400

B> Air Tube Transport Systems »>

96,5
;X == ng @m;% 5k
(370)
= e 5] =& O ofr
100
1135
1300 (1293)
= (735)
T —
95
m |
L] 1
? ; 1 T TI1%1 . 974 4 ? | 1 ‘ ”
133 il I 193,5 l 1(0 -
r
225
75/ 150 | 165
400
d=Nr e | s
an
390
2030 Blower_Console_Concrete Wall_Air Diverter 216

20.01.2023




» Air Tube Transport Systems »>

C(1:2)
20, 28
Ly !
7/%;7,\\ "
T v\
& J
Blower fixed to the strut
(4x) M10x16 Hex-head screw/Lock washer/Washer
(4x) M10x28 Rubber-Metal Buffer + M10 slide nut
{0 o A
A-A(1:4)
A
L L
1 B o
\
Blower standing on console
(or a base)
(9x) Flat washer DIN522 6.4x30x1.25 —r
(3x) M6x18 Rubber-Metal Buffer -] =
- =) = | |
‘ |
5 ! -
A
®
2030 Blower_Anchored to strut

20.01.2023




20, 28

40

Blower fixed to the wall
(4x) M10x16 Hex-head screw/Lock washer/Washer
(4x) M10x28 Rubber-Metal Buffer + M10x40 dowel

B> Air Tube Transport Syst;ams >

2030 Blower_Anchored to wall

F(1:2) i 5 =
D-D(1:4)
% 16 © A==
%
e T T
53 j k3
Blower standing on console ﬁ
(or a base) —
(9x) Flat washer DIN522 6.4x30x1.25 | E
(3x) M6x18 Rubber-Metal Buffer W = = W{
I \
| —
E D
1ORTIG rohrp ; 4/6

20.01.2023




G-G(1:75)

0 0
0 0
100 ,
% _o G o
1o OF— S e =]
== e = e
I
100 @
|
| 65 ; . 1300
) 150 X X
Gap=40mm - i i g [E' o .% 735"
\
il
/
e
= ] ]
173 | ¢ <
| ‘

®

2030 Blower_Console_Air Diverter_Installation Details |9 /6

» Air Tube Transport Systems »>

20.01.2023



Air Diverter
1.2694.6.02

Blower_Air Diverter
Connection set
1.2030.6.80

Blower
1.2030.3.0C

o\ [
3 o Blower console set
1.2331.0.02

EIOR"G mhrPOSt 2030 Blower_Console_Air Diverter / Article Numbers | 6 /6

Air Tube Transport Systems »>

20.01.2023



